g Maths Knowledae Oraaviser Topic 1: Basic Alaekraic Manipulation

wWhat must T be able to do?

Key vocabulary

You may veed to revise the following:
o Mear ® Topic 4: Alaebra 2.
o Mear 7 Topic G AlgebraA
New content:
0 Kvow the meaving of the words variable, expression, equation,
formula and identity
Sparx M330
0 Change the subject of a formula where the subject ouly appears once
Sparx W4
U Write an algebraic expression

Subject of | The letter which appears on

a formula | one side of the equation by
irself.

Variable Usually represented by a
letter, it can take a range of
values.

Formula A fact or rule which has 2. or

more variables, connected by
an equals sigm. Tf you kvow all
but ove of the variables you
com use the formula +o find
the value of the final ove,

Tdewtify equations, expressions, formulae and idevtities

Collection of terms
with vio edquals sigw

More than one variable
and an equals sigw

/
Has an equals sign

and ovly one unknown, .
no matter what value is
Can be solved.

i chosen for the variable..

; Expression | Eduation \ Formula Tdewntity
4LV \
2x+4 =12 <
; P = 4x / v ;
[ 2xr12=3(x+4) / v’ g

Use of the identity symbol.

Writing alaebraic expressions

e.0. Jack buys v metres of ribbon. The ribbon costs £2 per metre.

(a) Write down an expression in terms of n for the cost, in pounds, of n
metres of ribbon.

Sarah orders 5 pairs of trousers costing £t each and G jumpers costing £]
each. The total cost of the order is £109

i () write down an equation in terms of t and j for the total cost of the
i order.

i a) £3 for each metre of ribbon and n metres means the cost will be
5 £3 xn. So the costis just 3n.

K

The question asks for an expression so there is vio = sign.

b) 5 pairs of trousers at £t each is 5t
G jumpers at £j each is G
we know the total cost is £109, so

5t + @] = £109

T~

The duestion asks for an equation so there is an = sigw.

Chavaing the subject of a formula

This follows the same rules as whew solving

eduations.

i e.0. make u the subject of the formula

Both sides are always true!

3
2

=20+3
Y p b_%P

Y- 2p =21
Y- 3p >+2

-

e.0. make ¢ the subject of the formula

m=5(c—1)

There are 2 options here:

Method 1: expand the bracket first

expand C

5
-5 (

m=5(—1)
haxpmd
m=5c-5
)
m+5=5¢
m+5 >+5
=¢
5

Method 2. divide by the coefficient first

w5 (
“

m=5(—1) > 5
m
5o
m > +1
g+’\=c

Tip - examiners tell schools that method 4
usually has a higher success rate in an exam
 than method 2 does!
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